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QUESTION 1

Which interface does IDP use to communicate with Security Manager? 

A. eth0 

B. console port 

C. eth1 D. HA port 

Correct Answer: A 

 

QUESTION 2

Which three actions should be taken on a rule in the IDP rule base when the sensor is in transparent mode? (Choose
three.) 

A. Close client and server. 

B. Drop stream. 

C. Drop connection. 

D. Drop packet. 

Correct Answer: ACD 

 

QUESTION 3

What is the advantage of defining the Service field in a rule for a specific server? 

A. it allows you to permit and deny specific services. 

B. It allows you to drop traffic that does not match the service. 

C. There is no advantage to defining the Service field in any rule. 

D. It makes the rule more efficient, allowing IDP to only match attacks against services that would actually affect that
server. 

Correct Answer: D 

 

QUESTION 4

What contains instructions on how the sensor should decode protocols? 

A. PCAP files 

B. policy.set 
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C. detector.o 

D. ACM 

Correct Answer: C 

 

QUESTION 5

Which sensor utility is used to decode the contexts of a sequence of packets? 

A. scio pcap 

B. scio ccap 

C. netstat 

D. tcpreplay 

Correct Answer: B 
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